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THE ROLE OF PROFITABILITY IN THE FINANCIAL ACTIVITY

OF AN ECONOMIC ENTITY

The main purpose of this article is to properly manage the financial activities of business entities.

The main goal is to ensure sustainable development and growth by examining the role of profitability in
financial performance. The profitability assessment is carried out to measure the efficiency of an enterprise
and the profitability of its products. With this in mind, consider the rules for calculating the profitability of
each management body working to make a profit.

The assessment of profitability is the most important issue explored in this article. Given that every firm
or enterprise is created to make a profit, the profitability of that company should be strictly controlled by the
company s owners, investors, and the government. Protecting the profitability of the company is to ensure

2. High taxes.

total assets.

opinions about the firm and its future.

investment.

Introduction. Profitability in Microeconomics.
Microeconomics means the study, organization, and
management of production and services at the enterprise
and firm level. The enterprise, firm, company and other
centers that make up the core of the economy choose models
of more efficient organization of production and services,
striving to produce more and better products at lower costs.
In this context, economic factors such as production costs,
profits, prices, wages, supply and demand are used more
specifically, and more flexible forms of management are
chosen [2, p. 26-27].

Given that every firm or enterprise is created to make
a profit, the profitability of that company should be strictly
controlled by the company's owners, investors, and the
government. Protecting the profitability of the company is
to ensure high returns to shareholders. The government has
two primary interests in a company's high profitability:

1. Maintaining healthy competition in the country
while keeping the purpose of the company intact.

high returns to shareholders. The government has two primary interests in a company s high profitability:
1. Maintaining healthy competition in the country while keeping the purpose of the company intact.

Conducting a correct financial analysis is an important indicator for the study of this issue. For this purpose,
such financial ratios as liquidity ratio, portfolio management ratio, debt management ratio, profitability ratio,
and market value ratio were studied in detail. The summary of the researched issues is as follows:

1. Liquidity ratio indicates the firm's ability to repay overdue debts during the year.

2. The portfolio management ratio shows how a firm uses its total assets.

3. The debt management ratio refers to a firm's ability to repay its long-term debt and how it finances its

4. The profitability ratio shows how profitable the firm is in managing and using total assets.
5. The market value ratio expresses the value of firms listed on the stock exchange and forms investors’

If these components are presented more broadly with a Trend (T test), a more detailed profitability analysis
emerges. As a result of the above, proper financial analysis and profitability management will lead to the
healthy development and growth of both the economic entity and the state.
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Analysis of recent research. Researchers have a
large volume of research on financial performance.
However, there are relatively few studies devoted only
to profitability. To the list of basic research on the role of
profitability in finance it is possible to add the following
scientific works: Fundamentals of Financial Management
by Nevzat Aypek, Fundamentals of Economics by
Nicholas Gregory Mankiw, English economics, finance
and trade terms by Mahmut Sami Akgun, Alphabet
of financial markets "by Elshan Guliyev, Shahriyar
Gurbanzade," Financial Theory "by Bayali Atashov,
Nurpasha Novruzov, Elshan Ibrahimov, Sifariz Sabzaliyev.
The article was written with references to relevant
scholarly works.

The purpose of the article. The purpose of the study
is to develop theoretically and practically important
recommendations and suggestions to improve profitability
and business activity in commercial organizations.
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Discussion. The profitability assessment is carried
out to measure the efficiency of the enterprise and the
profitability of its products. With this in mind, consider
the rules for calculating the profitability of each governing
body working to make a profit. Before we can evaluate
the profitability of a firm, we need to be able to analyze
the financial statements of that management. Consider the
division of ratio analysis and analyze them in the financial
statements.

The main points to consider in this case are as follows
[6, p. 168-169]:

— comparison of the value of total assets owned by firms;

— comparison of income with interest expense;

— an estimate of the cash available for interest
payments.

In order to analyze these issues, it is necessary to find
a number of coefficients. These coefficients can be divided
into 5 categories:

1. Liquidity ratio indicates the firm's ability to repay
overdue debts during the year.

2. The portfolio management ratio shows how a firm
uses its total assets.

3. The debt management ratio refers to a firm's ability to
repay its long-term debt and how it finances its total assets.

4. The profitability ratio shows how profitable the firm
is in managing and using total assets.

5. The market value ratio expresses the value of firms
listed on the stock exchange and forms investors' opinions
about the firm and its future.

Here's a closer look at each of these five categories.

The liquidity ratio itself is divided into two parts:

1. Current ratio.

2. Acid-test ratio [1, p. 101].

The current ratio is measured by the ratio of tangible
assets to current liabilities.

Current ratio = tangible assets / current liabilities
Sector average =4.2 x

The fact that the current ratio is small compared to the
sector average means that the company needs to recheck its
liquidity. There are two conditions here:

1. If the current liquidity ratio is small with a slight
difference from the industry average, then it can be said
that there is no great danger for the firm. That is, this
problem can be solved by increasing proper strategic
liquidity.

2. If the current ratio is drastically lower than the
industry average, the firm is more likely to go bankrupt.

Acid-test ratio, calculated by dividing finished products
from tangible assets by short-term liabilities.

Acid-test ratio = (tangible assets — finished
product) / short-term liabilities
Sector average =2.2 x

The acid-test ratio is the more efficient ratio.
In general, the fact that both the current ratio and the acid-
test ratio are equal to or exceed the sector average indicates
that the company is an EBIT company.

Asset management ratios. It is possible to analyze
the asset management ratio by dividing it into 4 parts:
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1) inventory turnover rate; 2) days sales outsdanting;
3) tangible asset turnover; 4) total asset turnover rate.

The inventory turnover rate is equal to the ratio of
sales to different assets. As the name implies, these
ratios show how many assets were transferred during the
year.

Inventory turnover rate = sales / different assets
Sector average =10.9 x

If a firm's inventory turnover rate is lower than the
industry average, it means that the firm is holding excess
inventory. Excess inventory, of course, is inefficient, a sign
of small or zero return on investment. A drastic difference
between the inventory turnover rate and the sector average
indicates that the firm's products are unusable.

Days sales outsdanting.

Days sales outsdanting is the average time a company
waits to receive payment after a sale. The average for the
sector is 36 days. Days sales outsdanting is also understood
as the Average Collection Period (ACP) [7, p. 84—85].

Days sales outsdanting = DSO = receivables /
average daily sales = receivables / (annual sales / 365)

The fact that the DSO is higher than the average for the
sector indicates that customers who owe the company do
not pay on time, and as a result, the company pays its debts
late [1, p. 103].

The tangible asset turnover measures the period of
use of the firm's facilities and equipment.

Tangible asset turnover = sales / net tangible assets

The average index in this sector is 2.8x. If a firm's
tangible asset turnover ratio is higher than the average
for the sector, this means that facilities and equipment are
in constant use. It is also normal that in older firms this
coefficient is always high.

The total asset turnover rate measures the turnover
rate of all assets of the company. The average value in this
sector is 1.8x.

Total assets turnover rate = sales / total assets

If the total assets turnover rate is lower than the industry
average, it means that the firm is not able to sell enough.

The debt management ratio gives an indication of
how a firm's total assets are financed, as well as its ability to
repay long-term debt. In other words, if a firm earns more
than the interest on its assets, the use of debt will increase
the firm’s profitability (ROE), that is, «increase the debt-
to-private equity ratio». Debt, however, would expose the
firm to higher risk if it simply invested in private capital
[4, p. 23-24].

A company can take out loans for two reasons:

1. Because of its ability to reduce interest, the use of
debt reduces the tax invoice and ensures that most of the
company's income is passed on to shareholders.

2. If the rate of return on an asset is greater than the
interest rate on the debt, the funds from the debt can be
distributed to shareholders to purchase assets, and the
remaining amount as a bonus.

In order to better understand the above, it is necessary
to pay attention to how the debt ratio and the time-interest
earnings ratio are calculated and used.
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The ratio of total debt to total earnings, called the debt
ratio, is the percentage of funds that are debtors (total debt
includes all existing liabilities and long-term debt).

Debt ratio = (total debt / total profit) * 100%
Sector average = 40%

The fact that the debt ratio is higher than the sector
average indicates that private capital increases carry
the risk of new borrowing. At the same time, it clearly
shows that shareholders and other fundraising firms
cannot raise additional funds. If the firm does not attempt
to lower the interest rate, the risk of bankruptcy will be
increased.

The Times Interest Earned (TIE) ratio is obtained by
dividing interest income and pretax income by interest
expenses:

TIE = EBIT / Interest expenses
Sector average = 6.0 x

The TIE ratio measures the level by which a firm's
income can fall before the firm can cover its annual
interest expenses. Failure to pay interest will lead to
lawsuits by debtors, which will inevitably lead to the
bankruptcy of the enterprise. In other words, the TIE is
a measure of how many times a firm can protect interest
expenses. If this ratio is lower than the sector average, it
means that interest expenses are not adequately protected
and additional borrowing brings the firm closer to
bankruptcy.

Financial reporting includes events from the past.
At the same time, it hints at what really matters, namely
the results to be achieved in the future. The liquidity and
debt portfolio management ratios discussed so far provide
information about the firm's policies and operations.
Now consider the profitability ratios, which reflect the
end result of financial policies and activities of all firms
[4, p. 67-68]. The profitability ratio is analyzed by
calculating the following five ratios:

1. Operating Profit.

2. Profit margin (markup).

3. Return on Total Assets (ROA).

4. Basic Earning Power (BEP).

5. Return on Equity (ROE).

Operating Profit. The EBIT operating profit from
sales ratio measures a company's profit for every dollar
generated from sales.

Operating profit margin = (EBIT / Sales) * 100%
Sector average = 10%

The fact that the operating profit margin is lower than
the industry average indicates that the company has high
operating expenses. This is explained by the low inventory
turnover rate and high sales ratio.

Profit Margin (Markup)

Profit margin is the percentage ratio of net income to
sales:

Profit Margin = (Net Income / Sales Income) * 100%

Sector average =5%

If the profit margin is smaller than the sector average,
this may be due to two reasons:

1. High operating costs of the enterprise.

2. High exposure of the enterprise to the use of debt.

It should be noted that the reasons listed are high sales
revenue and the fact that other variables are constant.
However, if the variables are not constant, sales should
also be controlled. Because if a company sets a high price
for its products, it makes a high profit on each sale, but it
cannot sell many products. This can be very profitable for
the company, but it will also lead to low sales, which can
lead to low net income.

Return on Total Assets (ROA)

The ratio of net income to total assets gives the return
on total assets:

Return on total assets (ROA) = (net income /
total assets) * 100%
Sector average = 9%

Of course, the fact that return on assets is lower than
the sector average is not a good situation. However, when
looking at return on assets, more research needs to be
done, as low return on assets can be the result of deliberate
borrowing.

Basic Earning Power (BEP)

BEP is calculated by dividing the company's income by
its total assets:

BEP = (EBIT / total assets) * 100%
Sector average = 18%

The BEP indicator shows the strength of a firm's raw
return on assets before taxes and debt factors, which is
used to compare firms of different debt and tax status.

Return on Equity (ROE)

The most important accounting factor, ROE, is the
percentage of net income to equity.

ROE = (Net Income / Private Equity) * 100%
Sector average = 15%

Shareholders expect their investment to generate a
profit, and this percentage is an indicator of how well the
accounting is done. The fact that the ROE is lower than
the average for the sector is due to the high level of debt
utilization by the company.

Market value ratio

Return on equity (ROE) combines the effects of all the
other ratios and is by itself the most effective accounting
ratio. Investors like high return on equity (ROE), and
high ROE is also associated with high stock prices.
But there may be other issues as well. For example,
additional financial support increases the ROE, but at the
same time it increases the risk. For this reason, if a high
ROE is obtained using excess debt, the share document
price will be cheaper than a share document price with
a lower ROE using less debt. That is, a high ROE does
not always mean that the company is more profitable and
more valuable. To better explain this situation, we will use
the last set of ratios, the market value ratio, in which the
document value per share is related to the profitability of
the company and the book value per share. If liquidity,
asset management, debt management, and profitability
ratios are optimal, and investors expect these ratios to be
optimal in the future, the market value ratio, value per
share document will be as high as expected and give the
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impression that management is pursuing the right policies
[S, p. 35-37].

The market value ratio is mainly used in 3 ways:

1) by investors when deciding whether to buy or sell a
share document;

2) by investor-bankers in determining the value for the
export part of the document;

3) when deciding how much to recommend to another
company in a potential partnership.

Price / Earnings ratio (P/ E)

The Price / Earnings ratio shows how much investors
are willing to pay for each dollar claimed.

Price / Income ratio (P / E ratio) = price /
share per share
Sector average = 11.3 x

While P / E ratios will be higher for fast-growing and
low-risk companies, they will be lower than the sector
average for slow-growing and high-risk companies.

Market / Book ratio

The ratio of the market value of a document to its
book value gives an indication of how investors value a
company. Investor-friendly companies are low-risk, fast-
growth companies with high M/B ratios. Before finding
the M / B ratio, it is necessary to calculate the purchase
price per share:

Purchase price per share = Initial capital /
working capital

Market / Purchasing Ratio = M / B ratio = Market

value per share / purchase value per share
Sector average = 1.7 x

The M / B ratio is usually greater than 1.0 x, indicating
that investors are likely to pay more for stock documents
than the booked purchase price.

Correlation of coefficients
using the DuPONT formula

The coefficients mentioned so far are expressed using
the DuPONT formula, which is related to the determination
of ROE, the most important accounting factor.

ROE = ROA x Private Capital x Private Capital Ratio

Let’s explain the DuPONT formula in more detail:

ROE = ROA x Private equity ratio = (profit
margin) x (total assets turnover rate) x (equity ratio) =
(net income / sales) x (sales / total assets) x
(total assets / total equity)

The first term, Profit Margin, shows the investor how
much the firm has earned from sales. This ratio is based on
cost of sales and sales prices. If the price is high and the
cost is low, it means that the ROE will be high.

The second term, fotal asset turnover rate, is the ratio
of how many times a year the rate of return is earned.

sources and allocation of private capital to an enterprise.

whether the loan is intentional or unintentional debt.

Note 1: The Private Equity Ratio is used by investors and financiers to understand and measure the risk of external

Private Equity Ratio = Total Assets /
Private Capital
The equity ratio shows how many times assets are equal to equity. For example, a firm has total assets of $100 million
and private equity of $25 million. This means that 1/ 4 of all assets are funded by equity.
A high equity ratio indicates that assets are financed by debt. In order not to make a mistake, it is necessary to check

Note 2:

EM is the equity ratio.

ROA = net income / total assets = net income / (sales / total active turnover rate)) = (net income / sales) *
total active turnover rate = profit margin * total active turnover rate
Note 3: The equity ratio is related to the firm’s debt ratio. The formula for this interrelation is as follows:
Debt ratio=1-(1/ EM)

Conclusion. The continuity and accuracy of all of
the above analyses can be seen more clearly with trend
analysis. The correct interpretation of trend analysis
is a very important element. As already noted, high
profitability is very important not only for companies, but
also for the economic development of the state. For small
businesses, it's even more difficult because companies
with high interest rates don't know which factors to
pay more attention to and go bankrupt. Rather, they

go bankrupt because they fail to use debt management
policies correctly. One of the things the government can
do for businessmen is to organize informational and
educational trainings and, if necessary, appoint financiers
to make progress in this area. In this way, it is possible to
reduce the risk of bankruptcy and ensure the profitability
of business entities, protecting the interests of both the
business and the government by making great strides
toward development.
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POJIb PEHTABEJIBHOCTI Y ®IHAHCOBIH JIAJIbHOCTI EKOHOMIYHOT'O CYB’EKTY

OCHOBHOI0O MemOI0 HANUCAHHA Yiei cmammi € HanedlcHe YNpasuiHua (DIHAHCOBOI0 OUANbHICMIO CYO '€Kmie 20cho-
oaproganns. 101061010 Memol0 mym € 3a0e3nedeHHss CManio2o po36UMKY Mda 3POCMAHHS ULISAXOM 6UBYEHHS DO
npubymrogeocmi 'y Qinancosux pesyivmamax. Oyinka peHmabenrbHocmi — nposooumvCs Oisl GUMIPIOBAHHS NOKAZHUKIG
OisIbHOCMI nionpueMcmea ma penmadenrbrocmi npooykyii. Bpaxoeyrouu ye, 36epnemo yeazy nHa npasuida po3paxyHky
PEHMAaOeNbHOCHI KOJCHO20 Op2aHy VNPAGIIHHA, WO Npayioe Ha ompumarnts npubymky. Oyinka penmabenvHocmi €
CYmmesum NUMAaKHAM, Ke 00Cai0Hcyemoves y cmammi. Bpaxoeyrouu, wo xodxchna ¢ghipya uu nionpuemcmeo cmeopeHo
011 OMPUMAHHA NPUOYMKY, peHmabenvHicmy Yiei Qipmu NOBUHHA CY8OPO KOHMPONIOBAMUCA AK 1ACHUKAMU Dipmu,
ineecmopamu, max i oepaucasoro. 3axucm npubymrxoeocmi Qipmu nonseac 6 momy, wjoo 3abezneyumu 6UCOKi NPUOYmMKu
axyionepis. [lepocasa mae 06a 0OCHOBHUX IHMepPecU y GUCOKIU NPUOYMKOBOCMI KOMNAHIL:

1. ITiompumra 300po6oi KOHKYpeHyii 6 Kpaini npu 30epedcenti Mmemu KOMNamii.

2. Bucoki nooamxku.

Ilposedenns npasunvHo20 QiHAHCO8020 AHANIZY € BANCIUBUM NOKAZHUKOM O/ OOCHIOHNCEHHS UbO2O NUMAHHA.
I ybo2o 6ynu demanbHo 6ueHeHi MaKi QIHAHCO8I NOKASHUKU, 5K KoeiyieHm RiKeIOHOCMI, Koeiyichm ynpasiinHs
nopmdehenem, koepiyicnm ynpaeuinus 6opeom, koegiyicnm npudymrogocmi, koegiyicum punkosoi sapmocmi. ITiocymok
00CTIONHCEHUX NUMAHD MAKULL:

1. Koeghiyienm nixeionocmi — exazye nHa 30amuicms Qipmu nozacumu npocmpoyeny 3a00p208anicms npomsazom poxy.

2. Koegbiyienm ynpaeninua nopmgenem — noxkasye, K Qpipma 6UKoOpucmogye coi 3a2aibHi akmusu.

3. Koegiyicum ynpaeninus 6opeom — 8ioHocumuvcsa 00 30amHocmi (ipmu noeacumu c8ili 00820cmpoKosuli bope,
a Mmakodic 00 Mo2o, sIK 60HA PIHANCYE CB0T 3a2abHi AKMUBU.

4. Koegiyicum penmabenoHocmi — NOKA3ye, HACKIIbKYU NPUOYMKOB0I0 € (ipma 6 YnpasiinHi ma 6UKOPUCMAHHI CYKYN-
HUX aKmueis.

5. Koegiyicnm punxosozo idcomka — supasicae eapmicms ipm, aKi Komupyiomscs Ha GoHO06it Oipaici, i popmye
OYMKY cepeo iHeecmopis npo Qipmy ma ii maibymHe.

AKujo yi Komnonenmu npeocmasieHi wiupuie 3a 00nomo2or mpeHoy (I-mecm), 3°a61aemucs Oinbil OemanbHUll AHANI3
npubymxogocmi. Ak HaAcniOOK 8uUecKa3anoeo, npasuibHull PiHAHCOBUL AHATI3 MA YNPABLIHHA NPUOYMKOGICMIO Npu38e-
0ynb 00 300p06020 PO3BUMK) MA 3POCMAHHS K OJIsL CYO '€Kma 20Cno0apiosanHsi, max i 0Jisi 0epicasi.

Knrouoegi cnosa: npudymrosicmo, 30ym, akmugu, obopom, 6ope, 00Xio, 8i0COMOK, Koeqiyienm, pusux, 6aHKpymcmeo,
JIKBIOHICMb, [H8ECmMUYiL.

POJIb PEHTABEJIbHOCTU B ®PUHAHCOBOM JIESITEJIbHOCTHU
SKOHOMMNYECKOI'O CYBBEKTA

Ocnosnas yenv Hanucanusi OAHHOU CMAamvly — ePAMOMHOE YNpaesieHue YUHAHCOBOU OesimeIbHOCbIO XO3AUCMBYIO-
wux cy6vexmos. OCHOBHAsS Yelb — 0Decneuumy yCmouuueoe pazeumue u pocn, Uccieoys poib RPUObLILHOCMU 6 YUHAH-
cosblx nokazamensx. Oyenka penmabenbHOCmu — RPOBOOUMCsL OJisk UBMEPEHUsL NPOU3EOOUMETbHOCIU NPEONPUSIMUSL U
penmadenshocmu npooykma. Ilpunumas smo 6o eHuManue, 0OPAMUM GHUMAHUE HA NPAGUILA PACYema penmadenbHo-
CMU Kasico02o pyKogooswe2o opeand, pabomaiowe2o Ha noaydenue npudviiu. OQyenka penmabenbHocmu — 6adicHell-
wuill 8ONPOC, UCCiedyeMblil 8 CIMamoe. Yuumoleéas, umo Kaxcoas Gupma uiu npeonpusmue co30aHo OJisi NOLYYeHUs
npuodbBLIU, NPUOBLILHOCHIL IMOU YUPMbL QOINHCHA CIMPOSO KOHMPOTIUPOBAMBCS KAK 61A0eTbYAMU UPMbL, MAK U UHBECTNO-
pamu u 2ocyoapcmeom. 3awuma npudbLIbHOCIU QUPMbL 3AKIIOUACNCS 8 00eCnedeHUl 8bICOKUX 00X0008 AKYUOHEPOS.
YV 2ocyoapcmea ecmb 08a 0CHOBHBIX UHMEPECA 8 BLICOKOU NPUOLLILHOCIU KOMAAHUL:

1. IToooeposcarnue 300p06oll KOHKYPEeHYUU 8 CIMpaHe NPU COXPAHEeHUl Yeau KOMIAHUU.

2. Bvicokue nanoau.

IIposedenue npaguibHO20 QUHAHCOB020 AHANUZA — BAICHDLU NOKA3AMEND 0TI UCCAed06anusi 3moti npodonemvl. C omot
Yenbio ObLIU MUWAMENbHO U3YUEeHbl (PUHAHCOBbLE KOIPDPUYUEHMbL, MaKue KaK KOIP@uyueHm TuKeuOHoCmu, Kod@pduyuenm
ynpasienus nopmghenem, Ko guyuenm ynpasienus 00120M, KOIGhuyuenm npubbLibHOCIU, KOIDDUYUEeHMbl PLIHOYHOU
cmoumocmu. Kpamkoe uznodicenue uccied08anublx 60npocos 6bl2isioum ciedylouum 06pazom.

1. Koaghpuyuenm nuxeuonocmu — ykazviéaem na cnocooOHOCHb upmsl N02ACUNb NPOCPOUEHHYIO 3A00NHCEHHOCTIb 8
meyeHue 200d.

2. Koaghpuyuenm ynpasnenus nopmehenem — noxasvigaen, Kax pupma ucnoib3yem ceou ooujue akmusbi.

3. Kosppuyuenm ynpagnernus 00120M — OMHOCUMCSL K CHOCOOHOCMU (YUPMBL NO2AUAMb CE0L 00JI20CPOYHBLIL 00712, d
makdice K momy, Kak OHa puHancupyem ceou oouue aKmugbi.

4. Koahpuyuenm penmabenvhocmu — nokazvléaem, HACKOIbKO NPUOLIbHA QUPMA 8 YNPAGIeHUU U UCNOIb3068aHUU
6CexX AKmMueos.
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5. Koagppuyuenm peinounoii npoyeHmuol cmagki — eblpasicaem cmoumocmy upm, KOmupyiowuxcs Ha poHO06o1
oupoice, u popmupyem MHeHuUe UHEECMOPO8 O upme u ee OyOyulem.

Ecnu smu komnonenmer npedcmasnenst bonee wiupoko ¢ nomougpio mpenoa (T-mecm), nosasisiemcs 6onee noopooH»bitl
ananuz npubsLIbHOCMU. B pesynomame npasunvHulll (puHaHCO8bIll aHATU3 U YIPAGTIeHUe NPUOBLILHOCbIO NpUgedem K
300p06OMY PA3BUMUIO U POCTY KAK XO3ANUCMEYIOUue2o cydbekma, max u 20cy0apcmsa.

Knrouesvie cnosa: penmabenvHocms, npooasicu, akmugsl, 06opom, 00je, 00X00, NPOYEHmbl, KOIDPuyueHm, puck,
bankpomcmeo, MUKEUOHOCb, UHBECHUYUU.
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